

---

*Turkish Journal of*  
**INEQUALITIES**

---

Available online at [www.tjinequality.com](http://www.tjinequality.com)

**GENERALIZATION OF BULLEN TYPE, TRAPEZOID TYPE,  
MIDPOINT TYPE AND SIMPSON TYPE INEQUALITIES FOR  
S-CONVEX IN THE FOURTH SENSE**

BEYZA NUR YAŞAR<sup>1</sup>, NESIP AKTAN<sup>1</sup>, AND GÜLNUR ÇELİK KIZILKAN<sup>1</sup>

**ABSTRACT.** The main purpose of this article is to present the Bullen, Midpoint, Trapezoid and Simpson type inequalities, respectively, for s-convex in the fourth sense, with the help of identities existing in the literature.

1. INTRODUCTION

Convexity is a basic notion in geometry but also is widely used in other areas of mathematics. It is often hidden in other areas of mathematics: functional analysis, complex analysis, calculus of variations, graph theory, algebraic geometry and many other fields. Many scientists engaged attention and studied this field. Therefore there are many types of convexity in the literature.

The concept of the s-convex function was introduced in Breckners paper [1] and a number of properties and connections with s-convexity in the first sense are discussed in the paper [2]. In this article, s-convex in the fourth sense will be used in this article are as follows.

Many integral inequalities have been developed so far by different researchers in the due course of time. In the literature, we have many types of inequalities that involve convex functions, such as Bullen inequality [3], Hermite–Hadamard-Fejer inequality, Simpson type inequality [4], and Ostrowski type inequalities [5]. In the same way, There are a lot of well-know inequalities but the most notable one is Hermite-Hadamard type integral inequality. Let  $f : I \subset \mathbb{R} \rightarrow \mathbb{R}$  be an integrable convex function with  $a < b$ . Then, the Hermite-Hadamard inequality is expressed as follows:

---

*Key words and phrases.* s-convex function in the fourth sense, Bullen inequality, Midpoint inequality, Trapezoid inequality, Simpson inequality.

2010 *Mathematics Subject Classification.* Primary: 26A09. Secondary: 26D10.

*Received:* 26/10/2022 *Accepted:* 03/12/2022.

*Cited this article as:* B. Yaşar, N. Aktan, G. Çelik Kızılkkan, Generalization of Bullen Type, Trapezoid Type, Midpoint Type and Simpson Type Inequalities for S-Convex in the fourth sense, Turkish Journal of Inequalities, 6(2) (2022), 40-51.

$$f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(x)dx \leq \frac{f(a)+f(b)}{2}.$$

The left-hand side of inequality, proved in 1893 by Hadamard [6] before convex functions had been formally introduced, for functions  $f$  with  $f'$  increasing on  $[a, b]$ , is sometimes called the Hadamard inequality and the right-hand side is known as the Jensen inequality.

Trapezoid and midpoint inequalities are another known inequalities related to the right and left sides of the Hermite-Hadamard inequality. In order to obtain these inequalities, as stated below, identities play an important role.

In [7], Dragomir and Fitzpatrick proved a variant of Hermite-Hadamard inequality which holds for s-convex function.

**Definition 1.1.** A function  $f : [0, \infty) \rightarrow \mathbb{R}$  is said to be s-convex function if

$$f(\lambda x + (1-\lambda)y) \leq \lambda^s f(x) + (1-\lambda)^s f(y) \quad (1.1)$$

for all  $x, y \in [0, \infty)$ ,  $\lambda \in [0, 1]$  and for some fixed  $s \in (0, 1]$ .

**Definition 1.2.** [8] A function  $f : [0, \infty) \rightarrow \mathbb{R}$  is said to be s-convex function in the first sense if

$$f(\lambda x + \gamma y) \leq \lambda^s f(x) + \gamma^s f(y) \quad (1.2)$$

for all  $x, y \in [0, \infty)$ ,  $\lambda, \gamma \in [0, 1]$  and  $\lambda^s + \gamma^s = 1$  for some fixed  $s \in (0, 1]$ .

**Definition 1.3.** [1] A function  $f : [0, \infty) \rightarrow \mathbb{R}$  is said to be s-convex function in the second sense if

$$f(\lambda x + \gamma y) \leq \lambda^s f(x) + \gamma^s f(y) \quad (1.3)$$

for all  $x, y \in [0, \infty)$ ,  $\lambda, \gamma \in [0, 1]$  and  $\lambda + \gamma = 1$  for some fixed  $s \in (0, 1]$ .

**Definition 1.4.** [9] A function  $f : [0, \infty) \rightarrow \mathbb{R}$  is said to be s-convex function in the third sense if

$$f(\lambda x + \gamma y) \leq \lambda^{\frac{1}{s}} f(x) + \gamma^{\frac{1}{s}} f(y) \quad (1.4)$$

for all  $x, y \in [0, \infty)$ ,  $\lambda, \gamma \in [0, 1]$  and  $\lambda^s + \gamma^s = 1$  for some fixed  $s \in (0, 1]$ .

**Definition 1.5.** [10] Let  $U$  be a subset of vector space  $X$  and let  $s \in (0, 1]$ . A function  $f : U \rightarrow \mathbb{R}$  is said to be s-convex function in the fourth sense if the inequality

$$f(\lambda x + \gamma y) \leq \lambda^{\frac{1}{s}} f(x) + \gamma^{\frac{1}{s}} f(y) \quad (1.5)$$

is satisfied for each  $x, y \in U$  and for all  $\lambda, \gamma \in [0, 1]$  such that  $\lambda + \gamma = 1$ .

**Corollary 1.1.** [10] If  $f : U \rightarrow \mathbb{R}$  is s-convex function in the fourth sense, then  $f \leq 0$ .

**Theorem 1.1.** [11] Let  $f : U \rightarrow \mathbb{R}$  is s-convex function in the fourth sense, where  $s \in (0, 1]$  and  $a, b \in \mathbb{R}$ ,  $a < b$ . If  $f \in L[a, b]$ , then the following inequalities hold

$$2^{\frac{1}{s}-1} f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(x)dx \leq \frac{s}{s+1} (f(a) + f(b)) . \quad (1.6)$$

In recent years, many research scholars have focused their great attention on the study of this inequality. The aim of this paper is to establish some new Hermite-Hadamard type inequalities and Simpson type inequalities for s-convex function in the fourth sense.

## 2. GENERALIZED BULLEN TYPE INEQUALITIES

Bullen-type inequalities for generalized convex functions were obtained in the paper [12].

**Theorem 2.1.** *Let  $f : U \subseteq \mathbb{R}$  is  $s$ -convex function in the fourth sense, where  $s \in (0, 1]$  and  $a, b \in \mathbb{R}$ ,  $a < b$ . If  $f \in L[a, b]$ , then the following inequalities hold*

$$\begin{aligned} 2^{\frac{1}{s}-1} \left( f \left( \frac{a+x}{2} \right) + f \left( \frac{x+b}{2} \right) \right) &\leq \frac{1}{x-a} \int_a^x f(t) dt + \frac{1}{b-x} \int_x^b f(t) dt \\ &\leq \frac{s}{s+1} (f(a) + f(b) + 2f(x)) . \end{aligned}$$

for all  $x \in [a, b]$ .

*Proof.* Since  $f : U \subseteq \mathbb{R}$  is  $s$ -convex function in the fourth sense on  $[a, x] \subset [a, b]$ , by using inequalities (1.6) we get

$$I_1 := 2^{\frac{1}{s}-1} f \left( \frac{a+x}{2} \right) \leq \frac{1}{x-a} \int_a^x f(x) dx \leq \frac{s}{s+1} (f(a) + f(x))$$

By similar way for  $[x, b] \subset [a, b]$ , it follows that

$$I_2 := 2^{\frac{1}{s}-1} f \left( \frac{b+x}{2} \right) \leq \frac{1}{b-x} \int_x^b f(x) dx \leq \frac{s}{s+1} (f(b) + f(x))$$

As consequence, by adding  $I_1$  and  $I_2$ , we have,

$$\begin{aligned} 2^{\frac{1}{s}-1} \left( f \left( \frac{a+x}{2} \right) + f \left( \frac{x+b}{2} \right) \right) &\leq \frac{1}{x-a} \int_a^x f(t) dt + \frac{1}{b-x} \int_x^b f(t) dt \\ &\leq \frac{s}{s+1} (f(a) + f(b) + 2f(x)) \end{aligned}$$

So, this proof completed. □

## 3. TRAPEZOID TYPE INEQUALITIES

**Lemma 3.1.** [12] *Let  $f : [a, b] \rightarrow \mathbb{R}$  be a differentiable mapping on  $(a, b)$  with  $a < b$ .  $f' \in L[a, b]$ , then the following equality holds,*

$$\begin{aligned} f(x) + \frac{f(a) + f(b)}{2} - \left[ \frac{1}{x-a} \int_a^x f(t) dt + \frac{1}{b-x} \int_x^b f(t) dt \right] \\ = \frac{x-a}{2} \int_0^1 (1-2\lambda) f'(\lambda a + (1-\lambda)x) d\lambda + \frac{b-x}{2} \int_0^1 (1-2\lambda) f'(\lambda x + (1-\lambda)b) d\lambda . \end{aligned}$$

for all  $x \in (a, b)$ .

**Theorem 3.1.** Let  $f : [a, b] \rightarrow \mathbb{R}$  be a differentiable mapping on  $(a, b)$  with  $a < b$ . If  $f'$  is  $s$ -convex function in the fourth sense on  $[a, b]$ , then

$$\begin{aligned} & \left| f(x) + \frac{f(a) + f(b)}{2} - \left[ \frac{1}{x-a} \int_a^x f(t) dt + \frac{1}{b-x} \int_x^b f(t) dt \right] \right| \\ & \leq (b-a) \left[ \frac{1}{2^{\frac{1}{s}+1}} \frac{s^2}{(s+1)(2s+1)} + \frac{s}{(s+1)(2s+1)} \right] |f'(x)| \\ & + \left[ \frac{1}{2^{\frac{1}{s}+1}} \frac{s^2}{(s+1)(2s+1)} + \frac{s}{(s+1)(2s+1)} \right] ((b-x) |f'(b)| + (x-a) |f'(a)|) . \end{aligned}$$

for all  $x \in [a, b]$ .

*Proof.* From Lemma 3.1, by using the properties of modulus and  $f'$  is  $s$ -convex function in the fourth sense on  $[a, b]$ , we have,

$$\begin{aligned} & \left| f(x) + \frac{f(a) + f(b)}{2} - \left[ \frac{1}{x-a} \int_a^x f(t) dt + \frac{1}{b-x} \int_x^b f(t) dt \right] \right| \\ & \leq \frac{x-a}{2} \int_0^1 |1 - 2\lambda| |f'(\lambda a + (1-\lambda)x)| d\lambda \\ & + \frac{b-x}{2} \int_0^1 |1 - 2\lambda| |f'(\lambda x + (1-\lambda)b)| d\lambda \\ & \leq \frac{x-a}{2} \int_0^1 |1 - 2\lambda| |\lambda^{\frac{1}{s}} f'(a) + (1-\lambda)^{\frac{1}{s}} f'(x)| d\lambda \\ & + \frac{b-x}{2} \int_0^1 |1 - 2\lambda| |\lambda^{\frac{1}{s}} f'(x) + (1-\lambda)^{\frac{1}{s}} f'(b)| d\lambda \\ & \leq \frac{x-a}{2} \int_0^1 |1 - 2\lambda| \left[ \lambda^{\frac{1}{s}} |f'(a)| + (1-\lambda)^{\frac{1}{s}} |f'(x)| \right] d\lambda \\ & + \frac{b-x}{2} \int_0^1 |1 - 2\lambda| \left[ \lambda^{\frac{1}{s}} |f'(x)| + (1-\lambda)^{\frac{1}{s}} |f'(b)| \right] d\lambda \\ & \leq \frac{x-a}{2} \int_0^{\frac{1}{2}} |1 - 2\lambda| \left[ \lambda^{\frac{1}{s}} |f'(a)| + (1-\lambda)^{\frac{1}{s}} |f'(x)| \right] d\lambda \\ & + \frac{x-a}{2} \int_{\frac{1}{2}}^1 |2\lambda - 1| \left[ \lambda^{\frac{1}{s}} |f'(a)| + (1-\lambda)^{\frac{1}{s}} |f'(x)| \right] d\lambda \\ & + \frac{b-x}{2} \int_0^{\frac{1}{2}} |1 - 2\lambda| \left[ \lambda^{\frac{1}{s}} |f'(x)| + (1-\lambda)^{\frac{1}{s}} |f'(b)| \right] d\lambda \\ & + \frac{b-x}{2} \int_{\frac{1}{2}}^1 |2\lambda - 1| \left[ \lambda^{\frac{1}{s}} |f'(x)| + (1-\lambda)^{\frac{1}{s}} |f'(b)| \right] d\lambda \\ & = (b-a) \left[ \frac{1}{2^{\frac{1}{s}+1}} \frac{s^2}{(s+1)(2s+1)} + \frac{s}{(s+1)(2s+1)} \right] |f'(x)| \\ & + \left[ \frac{1}{2^{\frac{1}{s}+1}} \frac{s^2}{(s+1)(2s+1)} + \frac{s}{(s+1)(2s+1)} \right] ((b-x) |f'(b)| + (x-a) |f'(a)|) . \end{aligned}$$

So, this proof completed.  $\square$

**Theorem 3.2.** *Let  $f : [a, b] \rightarrow \mathbb{R}$  be a differentiable mapping on  $(a, b)$  with  $a < b$ . If  $f'$  is  $s$ -convex function in the fourth sense on  $[a, b]$  for some  $q > 1$ , then*

$$\begin{aligned} & \left| f(x) + \frac{f(a) + f(b)}{2} - \left[ \frac{1}{x-a} \int_a^x f(t) dt + \frac{1}{b-x} \int_x^b f(t) dt \right] \right| \\ & \leq \frac{x-a}{2(p+1)^{\frac{1}{p}}} \left[ \frac{s}{s+1} |f'(a)|^q + \frac{s}{s+1} |f'(x)|^q \right]^{\frac{1}{q}} + \frac{b-x}{2(p+1)^{\frac{1}{p}}} \left[ \frac{s}{s+1} |f'(a)|^q + \frac{s}{s+1} |f'(x)|^q \right]^{\frac{1}{q}}. \end{aligned}$$

where  $x \in [a, b]$  and  $\frac{1}{p} + \frac{1}{q} = 1$ .

*Proof.* From Lemma 3.1, by using Hölder inequality and  $f'$   $s$ -convex function in the fourth sense on  $[a, b]$ , we have

$$\begin{aligned} & \left| f(x) + \frac{f(a) + f(b)}{2} - \left[ \frac{1}{x-a} \int_a^x f(t) dt + \frac{1}{b-x} \int_x^b f(t) dt \right] \right| \\ & \leq \frac{x-a}{2} \int_0^1 |1-2\lambda| |f'(\lambda a + (1-\lambda)x)| d\lambda \\ & \quad + \frac{b-x}{2} \int_0^1 |1-2\lambda| |f'(\lambda x + (1-\lambda)b)| d\lambda \\ & \leq \frac{x-a}{2} \left( \int_0^1 |1-2\lambda|^p d\lambda \right)^{\frac{1}{p}} \left( \int_0^1 |f'(\lambda a + (1-\lambda)x)|^q d\lambda \right)^{\frac{1}{q}} \\ & \quad + \frac{b-x}{2} \left( \int_0^1 |1-2\lambda|^p d\lambda \right)^{\frac{1}{p}} \left( \int_0^1 |f'(\lambda x + (1-\lambda)b)|^q d\lambda \right)^{\frac{1}{q}} \\ & \leq \frac{x-a}{2} \left( \int_0^1 |1-2\lambda|^p d\lambda \right)^{\frac{1}{p}} \left( \int_0^1 |\lambda^{\frac{1}{s}} f'(a) + (1-\lambda)^{\frac{1}{s}} f'(x)|^q d\lambda \right)^{\frac{1}{q}} \\ & \quad + \frac{b-x}{2} \left( \int_0^1 |1-2\lambda|^p d\lambda \right)^{\frac{1}{p}} \left( \int_0^1 |\lambda^{\frac{1}{s}} f'(x) + (1-\lambda)^{\frac{1}{s}} f'(b)|^q d\lambda \right)^{\frac{1}{q}} \\ & \leq \frac{x-a}{2(p+1)^{\frac{1}{p}}} \left( \int_0^1 (\lambda^{\frac{1}{s}} |f'(a)|^q + (1-\lambda)^{\frac{1}{s}} |f'(x)|^q) d\lambda \right)^{\frac{1}{q}} \\ & \quad + \frac{b-x}{2(p+1)^{\frac{1}{p}}} \left( \int_0^1 (\lambda^{\frac{1}{s}} |f'(x)|^q + (1-\lambda)^{\frac{1}{s}} |f'(b)|^q) d\lambda \right)^{\frac{1}{q}} \\ & = \frac{x-a}{2(p+1)^{\frac{1}{p}}} \left[ \frac{s}{s+1} |f'(a)|^q + \frac{s}{s+1} |f'(x)|^q \right]^{\frac{1}{q}} \\ & \quad + \frac{b-x}{2(p+1)^{\frac{1}{p}}} \left[ \frac{s}{s+1} |f'(a)|^q + \frac{s}{s+1} |f'(x)|^q \right]^{\frac{1}{q}}. \end{aligned}$$

So, this proof completed. □

## 4. MIDPOINT TYPE INEQUALITIES

**Lemma 4.1.** [12] *Let  $f : [a, b] \rightarrow \mathbb{R}$  be a differentiable mapping on  $(a, b)$  with  $a < b$ .  $f' \in L[a, b]$ , then the following equality holds,*

$$\begin{aligned} & f\left(\frac{a+x}{2}\right) + f\left(\frac{b+x}{2}\right) - \left[ \frac{1}{x-a} \int_a^x f(t)dt + \frac{1}{b-x} \int_x^b f(t)dt \right] \\ &= (x-a) \int_0^{\frac{1}{2}} \lambda [f'(\lambda x + (1-\lambda)a) - f'(\lambda a + (1-\lambda)x)] d\lambda \\ &+ (b-x) \int_{\frac{1}{2}}^1 (1-\lambda) [f'(\lambda x + (1-\lambda)b) - f'(\lambda b + (1-\lambda)x)] d\lambda. \end{aligned}$$

**Theorem 4.1.** *Let  $f : [a, b] \rightarrow \mathbb{R}$  be a differentiable mapping on  $(a, b)$  with  $a < b$ . If  $f'$  is  $s$ -convex function in the fourth sense on  $[a, b]$ , then*

$$\begin{aligned} & \left| f\left(\frac{a+x}{2}\right) + f\left(\frac{b+x}{2}\right) - \left[ \frac{1}{x-a} \int_a^x f(t)dt + \frac{1}{b-x} \int_x^b f(t)dt \right] \right| \\ & \leq \frac{s^2}{(s+1)(2s+1)} \left(1 - \frac{1}{2^{\frac{1}{s}+1}}\right) [(x-a)|f'(a)| + (b-x)|f'(b)|] \\ & + \frac{s^2}{(s+1)(2s+1)} \left(1 - \frac{1}{2^{\frac{1}{s}+1}}\right) [(b-a)|f'(x)|]. \end{aligned}$$

for all  $x \in [a, b]$ .

*Proof.* From Lemma 4.1 by using the properties of modulus and  $f'$  is  $s$ -convex function in the fourth sense on  $[a, b]$ , we have,

$$\begin{aligned} & \left| f\left(\frac{a+x}{2}\right) + f\left(\frac{b+x}{2}\right) - \left[ \frac{1}{x-a} \int_a^x f(t)dt + \frac{1}{b-x} \int_x^b f(t)dt \right] \right| \\ & \leq (x-a) \int_0^{\frac{1}{2}} \lambda [|f'(\lambda x + (1-\lambda)a)| + |f'(\lambda a + (1-\lambda)x)|] d\lambda \\ & + (b-x) \int_{\frac{1}{2}}^1 (1-\lambda) [|f'(\lambda x + (1-\lambda)b)| + |f'(\lambda b + (1-\lambda)x)|] d\lambda \\ & \leq (x-a) \int_0^{\frac{1}{2}} \lambda [|\lambda^{\frac{1}{s}} f'(x) + (1-\lambda)^{\frac{1}{s}} f'(a)| + |\lambda^{\frac{1}{s}} f'(a) + (1-\lambda)^{\frac{1}{s}} f'(x)|] d\lambda \\ & + (b-x) \int_{\frac{1}{2}}^1 (1-\lambda) [|\lambda^{\frac{1}{s}} f'(x) + (1-\lambda)^{\frac{1}{s}} f'(b)| + |\lambda^{\frac{1}{s}} f'(b) + (1-\lambda)^{\frac{1}{s}} f'(x)|] d\lambda \\ & \leq (x-a) \int_0^{\frac{1}{2}} \lambda [\lambda^{\frac{1}{s}} |f'(x)| + (1-\lambda)^{\frac{1}{s}} |f'(a)| + \lambda^{\frac{1}{s}} |f'(a)| + (1-\lambda)^{\frac{1}{s}} |f'(x)|] d\lambda \\ & + (b-x) \int_{\frac{1}{2}}^1 \lambda [\lambda^{\frac{1}{s}} |f'(x)| + (1-\lambda)^{\frac{1}{s}} |f'(b)| + \lambda^{\frac{1}{s}} |f'(b)| + (1-\lambda)^{\frac{1}{s}} |f'(x)|] d\lambda \end{aligned}$$

$$\begin{aligned}
&= \frac{s^2}{(s+1)(2s+1)} \left(1 - \frac{1}{2^{\frac{1}{s}+1}}\right) [(x-a)|f'(a)| + (b-x)|f'(b)|] \\
&+ \frac{s^2}{(s+1)(2s+1)} \left(1 - \frac{1}{2^{\frac{1}{s}+1}}\right) [(b-a)|f'(x)|] .
\end{aligned}$$

and completes the proof of this theorem.  $\square$

**Theorem 4.2.** *Let  $f : [a, b] \rightarrow \mathbb{R}$  be a differentiable mapping on  $(a, b)$  with  $a < b$ . If  $f'$  is  $s$ -convex function in the fourth sense on  $[a, b]$  for some  $q > 1$ , then*

$$\begin{aligned}
&\left| f\left(\frac{a+x}{2}\right) + f\left(\frac{b+x}{2}\right) - \left[ \frac{1}{x-a} \int_a^x f(t)dt + \frac{1}{b-x} \int_x^b f(t)dt \right] \right| \\
&\leq \frac{x-a}{2^{1+\frac{1}{p}}(p+1)^{\frac{1}{p}}} \left[ \left( \frac{s}{(1+s)2^{\frac{1}{s}+1}} |f'(x)|^q + \left(1 - \frac{1}{2^{1+\frac{1}{s}}}\right) \frac{s}{s+1} |f'(a)|^q \right)^{\frac{1}{q}} \right. \\
&+ \left. \left( \frac{s}{(1+s)2^{\frac{1}{s}+1}} |f'(a)|^q + \left(1 - \frac{1}{2^{1+\frac{1}{s}}}\right) \frac{s}{s+1} |f'(x)|^q \right)^{\frac{1}{q}} \right] \\
&+ \frac{b-a}{2^{1+\frac{1}{p}}(p+1)^{\frac{1}{p}}} \left[ \left( \frac{s}{(1+s)2^{\frac{1}{s}+1}} |f'(x)|^q + \left(1 - \frac{1}{2^{1+\frac{1}{s}}}\right) \frac{s}{s+1} |f'(b)|^q \right)^{\frac{1}{q}} \right. \\
&+ \left. \left( \frac{s}{(1+s)2^{\frac{1}{s}+1}} |f'(b)|^q + \left(1 - \frac{1}{2^{1+\frac{1}{s}}}\right) \frac{s}{s+1} |f'(x)|^q \right)^{\frac{1}{q}} \right]
\end{aligned}$$

where  $x \in [a, b]$  and  $\frac{1}{p} + \frac{1}{q} = 1$ .

*Proof.* From Lemma 4.1, by using Hölder inequality and  $f'$   $s$ -convex function in the fourth sense on  $[a, b]$ , we have

$$\begin{aligned}
&\left| f\left(\frac{a+x}{2}\right) + f\left(\frac{b+x}{2}\right) - \left[ \frac{1}{x-a} \int_a^x f(t)dt + \frac{1}{b-x} \int_x^b f(t)dt \right] \right| \\
&\leq (x-a) \left( \int_0^{\frac{1}{2}} \lambda^p d\lambda \right)^{\frac{1}{p}} \left[ \left( \int_0^{\frac{1}{2}} |f'(\lambda x + (1-\lambda)a)|^q d\lambda \right)^{\frac{1}{q}} \right. \\
&+ \left. \left( \int_0^{\frac{1}{2}} |f'(\lambda a + (1-\lambda)x)|^q d\lambda \right)^{\frac{1}{q}} \right] \\
&+ (b-x) \left( \int_{\frac{1}{2}}^1 (1-\lambda)^p d\lambda \right)^{\frac{1}{p}} \left[ \left( \int_{\frac{1}{2}}^1 |f'(\lambda x + (1-\lambda)b)|^q d\lambda \right)^{\frac{1}{q}} \right. \\
&+ \left. \left( \int_{\frac{1}{2}}^1 |f'(\lambda b + (1-\lambda)x)|^q d\lambda \right)^{\frac{1}{q}} \right]
\end{aligned}$$

$$\begin{aligned}
&\leq (x-a) \left( \int_0^{\frac{1}{2}} \lambda^p d\lambda \right)^{\frac{1}{p}} \left[ \left( \int_0^{\frac{1}{2}} |\lambda^{\frac{1}{s}} f'(x) + (1-\lambda)^{\frac{1}{s}} f'(a)|^q d\lambda \right)^{\frac{1}{q}} \right. \\
&\quad \left. + \left( \int_0^{\frac{1}{2}} |\lambda^{\frac{1}{s}} f'(a) + (1-\lambda)^{\frac{1}{s}} f'(x)|^q d\lambda \right)^{\frac{1}{q}} \right] \\
&\quad + (b-x) \left( \int_{\frac{1}{2}}^1 (1-\lambda)^p d\lambda \right)^{\frac{1}{p}} \left[ \left( \int_{\frac{1}{2}}^1 |\lambda^{\frac{1}{s}} f'(x) + (1-\lambda)^{\frac{1}{s}} f'(b)|^q d\lambda \right)^{\frac{1}{q}} \right. \\
&\quad \left. + \left( \int_{\frac{1}{2}}^1 |\lambda^{\frac{1}{s}} f'(b) + (1-\lambda)^{\frac{1}{s}} f'(x)|^q d\lambda \right)^{\frac{1}{q}} \right] \\
&\leq \frac{x-a}{2^{1+\frac{1}{p}}(p+1)^{\frac{1}{p}}} \left[ \left( \int_0^{\frac{1}{2}} \lambda^{\frac{1}{s}} |f'(x)|^q + (1-\lambda)^{\frac{1}{s}} |f'(a)|^q d\lambda \right)^{\frac{1}{q}} \right. \\
&\quad \left. + \left( \int_0^{\frac{1}{2}} \lambda^{\frac{1}{s}} |f'(a)|^q + (1-\lambda)^{\frac{1}{s}} |f'(x)|^q d\lambda \right)^{\frac{1}{q}} \right] \\
&\quad + \frac{b-x}{2^{1+\frac{1}{p}}(p+1)^{\frac{1}{p}}} \left[ \left( \int_{\frac{1}{2}}^1 \lambda^{\frac{1}{s}} |f'(x)|^q + (1-\lambda)^{\frac{1}{s}} |f'(b)|^q d\lambda \right)^{\frac{1}{q}} \right. \\
&\quad \left. + \left( \int_{\frac{1}{2}}^1 \lambda^{\frac{1}{s}} |f'(b)|^q + (1-\lambda)^{\frac{1}{s}} |f'(x)|^q d\lambda \right)^{\frac{1}{q}} \right] \\
&= \frac{x-a}{2^{1+\frac{1}{p}}(p+1)^{\frac{1}{p}}} \left[ \left( \frac{s}{(1+s)2^{\frac{1}{s}+1}} |f'(x)|^q + \left(1 - \frac{1}{2^{1+\frac{1}{s}}}\right) \frac{s}{s+1} |f'(a)|^q \right)^{\frac{1}{q}} \right. \\
&\quad \left. + \left( \frac{s}{(1+s)2^{\frac{1}{s}+1}} |f'(a)|^q + \left(1 - \frac{1}{2^{1+\frac{1}{s}}}\right) \frac{s}{s+1} |f'(x)|^q \right)^{\frac{1}{q}} \right] \\
&\quad + \frac{b-a}{2^{1+\frac{1}{p}}(p+1)^{\frac{1}{p}}} \left[ \left( \frac{s}{(1+s)2^{\frac{1}{s}+1}} |f'(x)|^q + \left(1 - \frac{1}{2^{1+\frac{1}{s}}}\right) \frac{s}{s+1} |f'(b)|^q \right)^{\frac{1}{q}} \right. \\
&\quad \left. + \left( \frac{s}{(1+s)2^{\frac{1}{s}+1}} |f'(b)|^q + \left(1 - \frac{1}{2^{1+\frac{1}{s}}}\right) \frac{s}{s+1} |f'(x)|^q \right)^{\frac{1}{q}} \right].
\end{aligned}$$

So, the proof completed. □

## 5. SIMPSON TYPE INEQUALITIES

**Lemma 5.1.** [12] *Let  $f : [a, b] \rightarrow \mathbb{R}$  be a differentiable mapping on  $(a, b)$  with  $a < b$ .  $f' \in L[a, b]$ , then the following equality holds,*

$$\begin{aligned}
&\frac{1}{3} \left[ 2f\left(\frac{a+x}{2}\right) + 2f\left(\frac{b+x}{2}\right) + f(x) + \frac{f(a)+f(b)}{2} \right] \\
&\quad - \left[ \frac{1}{x-a} \int_a^x f(t) dt + \frac{1}{b-x} \int_x^b f(t) dt \right]
\end{aligned}$$



$$\begin{aligned}
&= (x-a) \int_0^{\frac{1}{2}} \left( \lambda - \frac{1}{6} \right) [f'(\lambda x + (1-\lambda)a) - f'(\lambda a + (1-\lambda)x)] d\lambda \\
&+ (b-x) \int_{\frac{1}{2}}^1 \left( \frac{5}{6} - \lambda \right) [f'(\lambda x + (1-\lambda)b) - f'(\lambda b + (1-\lambda)x)] d\lambda .
\end{aligned}$$

for all  $x \in [a, b]$ .

**Theorem 5.1.** *Let  $f : [a, b] \rightarrow \mathbb{R}$  be a differentiable mapping on  $(a, b)$  with  $a < b$ . If  $f'$  is  $s$ -convex function in the fourth sense on  $[a, b]$ , then*

$$\begin{aligned}
&\left| \frac{1}{3} \left[ 2f\left(\frac{a+x}{2}\right) + 2f\left(\frac{b+x}{2}\right) + f(x) + \frac{f(a)+f(b)}{2} \right] \right. \\
&\quad \left. - \left[ \frac{1}{x-a} \int_a^x f(t)dt + \frac{1}{b-x} \int_x^b f(t)dt \right] \right| \\
&\leq \frac{1}{6} \left[ \frac{4s^2-s}{(2s+1)(s+1)} + \frac{3s^2}{2^{\frac{1}{s}}(2s+1)(s+1)} \right] ((b-x)|f'(b)| + (x-a)|f'(a)|) \\
&+ \frac{1}{6} \left[ \frac{4s^2-s}{(2s+1)(s+1)} + \frac{3s^2}{2^{\frac{1}{s}}(2s+1)(s+1)} \right] (b-a)|f'(x)| .
\end{aligned}$$

for all  $x \in [a, b]$ .

*Proof.* From Lemma 5.1 by using the properties of modulus and  $f'$  is  $s$ -convex function in the fourth sense on  $[a, b]$ , we have

$$\begin{aligned}
&\left| \frac{1}{3} \left[ 2f\left(\frac{a+x}{2}\right) + 2f\left(\frac{b+x}{2}\right) + f(x) + \frac{f(a)+f(b)}{2} \right] \right. \\
&\quad \left. - \left[ \frac{1}{x-a} \int_a^x f(t)dt + \frac{1}{b-x} \int_x^b f(t)dt \right] \right| \\
&\leq (x-a) \int_0^{\frac{1}{2}} \left| \lambda - \frac{1}{6} \right| [|f'(\lambda x - (1-\lambda)a)| + |f'(\lambda a + (1-\lambda)x)|] d\lambda \\
&+ (b-x) \int_{\frac{1}{2}}^1 \left| \frac{5}{6} - \lambda \right| [|f'(\lambda x - (1-\lambda)b)| + |f'(\lambda b + (1-\lambda)x)|] d\lambda \\
&\leq (x-a) \int_0^{\frac{1}{2}} \left| \lambda - \frac{1}{6} \right| \left[ \lambda^{\frac{1}{s}} |f'(x)| + (1-\lambda)^{\frac{1}{s}} |f'(a)| + \lambda^{\frac{1}{s}} |f'(a)| + (1-\lambda)^{\frac{1}{s}} |f'(x)| \right] \\
&+ (b-x) \int_{\frac{1}{2}}^1 \left| \frac{5}{6} - \lambda \right| \left[ \lambda^{\frac{1}{s}} |f'(x)| + (1-\lambda)^{\frac{1}{s}} |f'(b)| + \lambda^{\frac{1}{s}} |f'(b)| + (1-\lambda)^{\frac{1}{s}} |f'(x)| \right] \\
&\leq \frac{1}{6} \left[ \frac{4s^2-s}{(2s+1)(s+1)} + \frac{3s^2}{2^{\frac{1}{s}}(2s+1)(s+1)} \right] ((b-x)|f'(b)| + (x-a)|f'(a)|) \\
&+ \frac{1}{6} \left[ \frac{4s^2-s}{(2s+1)(s+1)} + \frac{3s^2}{2^{\frac{1}{s}}(2s+1)(s+1)} \right] (b-a)|f'(x)| .
\end{aligned}$$

So, the proof completed. □

**Theorem 5.2.** *Let  $f : [a, b] \rightarrow \mathbb{R}$  be a differentiable mapping on  $(a, b)$  with  $a < b$ . If  $f'$  is  $s$ -convex function in the fourth sense on  $[a, b]$  for some  $q > 1$ , then*

$$\begin{aligned} & \left| \frac{1}{3} \left[ 2f\left(\frac{a+x}{2}\right) + 2f\left(\frac{b+x}{2}\right) + f(x) + \frac{f(a)+f(b)}{2} \right] \right. \\ & \left. - \left[ \frac{1}{x-a} \int_a^x f(t)dt + \frac{1}{b-x} \int_x^b f(t)dt \right] \right| \\ & \leq \frac{x-a}{(1+p)^{\frac{1}{p}}} \left( \frac{1}{3^{p+1}} \frac{1}{6^{p+1}} \right) \left\{ \left( \frac{s}{s+1} \left( \frac{1}{2}^{1+\frac{1}{s}} - 1 \right) (|f'(x)|^q - |f'(a)|^q) \right)^{\frac{1}{q}} \right. \\ & \left. + \left( \frac{s}{s+1} \left( \frac{1}{2}^{1+\frac{1}{s}} - 1 \right) (|f'(a)|^q - |f'(x)|^q) \right)^{\frac{1}{q}} \right\} \\ & + \frac{b-x}{(1+p)^{\frac{1}{p}}} \left( \frac{1}{3^{p+1}} \frac{1}{6^{p+1}} \right) \left\{ \left( \frac{s}{s+1} \left( \frac{1}{2}^{1+\frac{1}{s}} - 1 \right) (|f'(x)|^q - |f'(b)|^q) \right)^{\frac{1}{q}} \right. \\ & \left. + \left( \frac{s}{s+1} \left( \frac{1}{2}^{1+\frac{1}{s}} - 1 \right) (|f'(b)|^q - |f'(x)|^q) \right)^{\frac{1}{q}} \right\}. \end{aligned}$$

where  $x \in [a, b]$  and  $\frac{1}{p} + \frac{1}{q} = 1$ .

*Proof.* From Lemma 5.1, by using Hölder inequality and  $f'$   $s$ -convex function in the fourth sense on  $[a, b]$ , we have

$$\begin{aligned} & \left| \frac{1}{3} \left[ 2f\left(\frac{a+x}{2}\right) + 2f\left(\frac{b+x}{2}\right) + f(x) + \frac{f(a)+f(b)}{2} \right] \right. \\ & \left. - \left[ \frac{1}{x-a} \int_a^x f(t)dt + \frac{1}{b-x} \int_x^b f(t)dt \right] \right| \\ & \leq (x-a) \left( \int_0^{\frac{1}{2}} \left| \lambda - \frac{1}{6} \right|^p d\lambda \right)^{\frac{1}{p}} \left[ \left( \int_0^{\frac{1}{2}} |f'(\lambda x + (1-\lambda)a)|^q d\lambda \right)^{\frac{1}{q}} \right. \\ & \left. + \left( \int_0^{\frac{1}{2}} |f'(\lambda a + (1-\lambda)x)|^q d\lambda \right)^{\frac{1}{q}} \right] \\ & + (b-x) \left( \int_0^{\frac{1}{2}} \left| \frac{5}{6} - \lambda \right|^p d\lambda \right)^{\frac{1}{p}} \left[ \left( \int_{\frac{1}{2}}^1 |f'(\lambda x + (1-\lambda)b)|^q d\lambda \right)^{\frac{1}{q}} \right. \\ & \left. + \left( \int_{\frac{1}{2}}^1 |f'(\lambda b + (1-\lambda)x)|^q d\lambda \right)^{\frac{1}{q}} \right] \end{aligned}$$

$$\begin{aligned}
&\leq \frac{1}{(1+p)^{\frac{1}{p}}} \left( \frac{1}{3^{p+1}} \frac{1}{6^{p+1}} \right) \left\{ (x-a) \left[ \left( \int_0^{\frac{1}{2}} \lambda^{\frac{1}{s}} |f'(x)|^q + (1-\lambda)^{\frac{1}{s}} |f'(a)|^q d\lambda \right)^{\frac{1}{q}} \right. \right. \\
&+ \left. \left. \left( \int_0^{\frac{1}{2}} \lambda^{\frac{1}{s}} |f'(a)|^q + (1-\lambda)^{\frac{1}{s}} |f'(x)|^q d\lambda \right)^{\frac{1}{q}} \right] \right. \\
&+ (b-x) \left[ \left( \int_{\frac{1}{2}}^1 \lambda^{\frac{1}{s}} |f'(x)|^q + (1-\lambda)^{\frac{1}{s}} |f'(b)|^q d\lambda \right)^{\frac{1}{q}} \right. \\
&+ \left. \left. \left( \int_{\frac{1}{2}}^1 \lambda^{\frac{1}{s}} |f'(b)|^q + (1-\lambda)^{\frac{1}{s}} |f'(x)|^q d\lambda \right)^{\frac{1}{q}} \right] \right\} \\
&\leq \frac{x-a}{(1+p)^{\frac{1}{p}}} \left( \frac{1}{3^{p+1}} \frac{1}{6^{p+1}} \right) \left\{ \left( \frac{s}{s+1} \left( \frac{1}{2}^{1+\frac{1}{s}} - 1 \right) (|f'(x)|^q - |f'(a)|^q) \right)^{\frac{1}{q}} \right. \\
&+ \left. \left( \frac{s}{s+1} \left( \frac{1}{2}^{1+\frac{1}{s}} - 1 \right) (|f'(a)|^q - |f'(x)|^q) \right)^{\frac{1}{q}} \right\} \\
&+ \frac{b-x}{(1+p)^{\frac{1}{p}}} \left( \frac{1}{3^{p+1}} \frac{1}{6^{p+1}} \right) \left\{ \left( \frac{s}{s+1} \left( \frac{1}{2}^{1+\frac{1}{s}} - 1 \right) (|f'(x)|^q - |f'(b)|^q) \right)^{\frac{1}{q}} \right. \\
&+ \left. \left( \frac{s}{s+1} \left( \frac{1}{2}^{1+\frac{1}{s}} - 1 \right) (|f'(b)|^q - |f'(x)|^q) \right)^{\frac{1}{q}} \right\}.
\end{aligned}$$

So, the proof completed.  $\square$

**Acknowledgements.** We would like to thank the Reviewers for the comments and for classification of the manuscript as very good.

#### REFERENCES

- [1] W.W. Breckner, *Stetigkeitsaussagen für eine klasse verallgemeinerter konvexer funktionen in topologischen linearen raumen*, Publications DeL'institut Mathematique, 13–20 (1978).
- [2] H. Hudzik, L. Maligranda, *Some remarks on s-convex functions*, Aequationes Mathematicae, **48** (1994), 100–111.
- [3] P.S. Bullen, *Error estimates for some elementary quadrature rules*, Publikacije Elektrotehnickog fakulteta, Serija Matematika i fizika, (**602/633**) (1978), 97–103.
- [4] E. Set, A.O. Akdemir, M.E. Özdemir, *Simpson type integral inequalities for convex functions via Riemann-Liouville integrals*, Filomat, textbf31 (2017), 4415–4420.
- [5] E. Set, *New inequalities of ostrowski type for mappings whose derivatives are s-convex in the second sense via fractional integrals*. Comput. Math. Appl. 63(7) (2012), 1147–1154.
- [6] J. Hadamard, *Etude sur les proprietes des fonctions entieres et en particulier dune fonction consid er ee par Riemann*, Journal de Mathematiques Pures et Appliquees, 171–216 (1893).
- [7] S. S. Dragomir, S. Fitzpatrick, *The Hadamard inequalities for s-convex functions in the second sense*, Demonstratio Mathematica **32** (4)(1999), 687–696.
- [8] J. Musielak ,W. Orlicz, *On modular spaces*, Studia Mathematica, **18**(1) (1959), 49–65.
- [9] S. Kemali, S. Sezer, G. Tinaztepe, G. Adilov, *s-convex functions in the third sense*, Korean Journal of Mathematics, **29**(3) (2021), 593–602.

- [10] Z. Eken, S. Sezer, G. Tınaztepe, G. Adilov, *s-convex functions in the fourth sense and some of their properties*, Konuralp Journal of Mathematics, **9**(2) (2021), 260–267.
- [11] S. Kemali, *Hermite-Hadamard type inequality for s-convex functions in the fourth sense*, Turkish Journal of Mathematics and Computer Science, **13**(2) (2021), 287–293.
- [12] M. Sarikaya, *On the some generalization of inequalities associated with Bullen, Simpson, Midpoint and Trapezoid type*, (2022).

<sup>1</sup>DEPARTMENT OF MATHEMATICS AND COMPUTER SCIENCE,  
NECMETTİN ERBAKAN UNIVERSITY,  
KONYA, TURKEY  
*Email address:* beyzanurr852@gmail.com  
*Email address:* nesipaktan@gmail.com  
*Email address:* gckizilkan@erbakan.edu.tr